
ΑΣΚΗΣΕΙΣ ΜΑΘΗΜΑΤΙΚΩΝ 

 

• Υπολογίζω νοερά τα αποτελέσματα. 

 

4 –  0,50                         41,4  –  0,1 

     2  +  3,6                           67,15 + 0,15 

     2  +  3,06                         32  +  16,653 

     2  +  3,006                       4,1 + 2,6 + 1,3 

 

• Τι φανερώνει το ψηφίο 4 στους παρακάτω 

αριθμούς; 

 

    4,127     ….      φανερώνει μονάδες 

    16,04     ….      

    0,534     …. 

    176,748 ….    

    42,006   …. 

        53,941   .... 

        405,13   …. 

        4.009,1  ….. 

        22,489   ….. 

 



• Μετατρέπω σε  €  τα παρακάτω ποσά. 

     100 λεπτά  = 

     150 λεπτά  = 

     3 €    80 λεπτά =  

     250 λεπτά = 

     240 λεπτά =  

     5€     6 λεπτά = 

     5€     60 λεπτά = 

 


